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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

i) @t 3e7 e &

(i) ST YH-97 H 31 I97 8 51 IR @US] — 37, &, § 3N T H faunfaa & /

(iii) @YS 37 H Uh-Uah 37 it 4 J97 8 | @S § § 6 ¥97 & 578 @ J9% 2 37%
FTE | @8 G F 10 I97 @F-d17 371 & & | @ ¢ H 11 ¥97 3 574 @ 39%
43FFE |

(iv) Serpeictl & JFIT 1 IFAIT 77 8 |/

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iit) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qus A
SECTION A

Yo7 GEIT] 4 T Jodb J97 1 3F FT & |

Question numbers 1 to 4 carry 1 mark each.
1. U GAI 41, e a,, —a, =84 8, I Wrd ST 1R ?

What is the common difference of an A.P. in which 89y — g = 84 ?
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afe Tk wTel fog P& a Brsen qen O g @l g W @ieh &1 wnel @ &
s 1 B0 60° &, A OP <hl T8 3Td hifT |

If the angle between two tangents drawn from an external point P to a
circle of radius a and centre O, is 60°, then find the length of OP.

Ffe 30 #t. St T HAR, qff W 103 H. Tl BEn 9 7, 9@ g w1 ITE
10T T 7 ?

If a tower 30 m high, casts a shadow 10+/3 m long on the ground, then

what is the angle of elevation of the sun ?
900 i % Th & H Y Agesd Th dd A4 W HS g U« e i
TIRERAT 0-18 7 | @ H Hg g Hal hl H&AT &1 3 ?

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

Qs o
SECTION B

Y97 G&IT5 & 10 T Jo9% T4 & 2 3% 8 /

Question numbers 5 to 10 carry 2 marks each.

30/1

p %1 98 A F1a shifor foraes fore fgema aefiestor px? - 14x + 8 = 0 1 T 4d
TEH 6T R |

Find the value of p, for which one root of the quadratic equation
pxz— 14x + 8 = 0 is 6 times the other.

3T 20, 19%, 18%, 17%, ... Sl HI9-H] 92 YUH RUcHS U< 3 ?

Which term of the progression 20, 19% : 18% 5 A0 % , ... 1is the first negative

term ?

3 P.T.O.
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g HIVT fop g 1 fopet Sian o 31d fageni w @i=h 13 TRit@] S %
1Y Y hivT ST 8 |

Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.

s g TRl wgdst ABCD st wft =ri ot ot Tt e 7 | fag fifsre fe
AB + CD =BC + DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD =BC + DA

T N y-31& A x-31& Bl HAN: g3l P auan Q W yid=sg Hdl & | A
(2, - 5), PQ %1 wea-fag &1, @1 P aun Q % Feemes 3 ity |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

Ie P(x, y) 1 A5, 1) @1 B(- 1, 5) & 3l w9W &, @ fag Hive &6
3x = 2y.

If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.

Qs |9
SECTION C

97 G 11 @ 20 7% I J97 & 3 3% 8 |
Question numbers 11 to 20 carry 3 marks each.

11.

12.

30/1

Ife ad = be B, a1 fag Fifse for wfiemo
(a2 + b%) x% + 2 (ac + bd) x + (c? + d?) = 0 T IS AT G Tal 2 |

If ad # be, then prove that the equation

(a2 + b2) x2 +2 (ac+bd) x + (c2 + d2) =0 has no real roots.

Teh AT IS 1 YW Y2 5, 31fdH U2 45 91 38k Geft Uei <1 ITha 400 2 |
3H THTA U1 o Yal <h! AT 99T {1 AT F1d hifoT |
The first term of an A.P. is 5, the last term is 45 and the sum of all its

terms is 400. Find the number of terms and the common difference of the
AP.
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T HHR & UIg ¥ [ arel! Heht {@1 W UG | wAv: 4 /. qen 16 #H.
g wmgfgca DR | Ak Ca DI HHR % REr & 33 =
TH-gE & T &, df FHR 6 Ham 71 HIRT |

On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower.

T I H 15 HhG AU FS HIcll g & | AG IA H § Th HIell 1 HeheH H
Tt i S T e oA AL A e i
HEA1 {14 HIT |

A bag contains 15 white and some black balls. If the probability of

drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

ferg [% y), fagati P2, -2) @91 Q(3, 7) ®I fHaW It t@Es HI Ry

FgaTa # fawfor shear 2 2 y &1 AW ot 9 Hife |

In what ratio does the point (%, yj divide the line segment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.

& g IARfd H, TS 3 T S * fiA e, 4-5 A S 1 TH gI qd
4-5 G s o1 U 1€ ST Q| BT WIT T &% H1d ity |

<—3MW 3ot —
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Three semicircles each of diameter 3 cm, a circle of diameter 45 cm and a
semicircle of radius 4'5 cm are drawn in the given figure. Find the area of
the shaded region.

<— 3 cm 3 cm 3cm —

17. @ T hfa #, O g a1 1 Tehg A gt <l Brsemd 21 Ft qem 42 A 7
afe £ AOB = 60° 8, T SHIfhd T T &%t ATd HITT |

[n=¥mﬁnﬁﬁm]

//T \\

A\
7

O
O
C m D
\\ /
A\_/\é
In the given figure, two concentric circles with centre O have radii 21 cm

and 42 cm. If £ AOB = 60°, find the area of the shaded region.
22
[Usen=—]
7

///T NN
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5-4 . =S 3 1-8 . TEh uHk A= # yrht 25 fRdi/ave i Ufd A SE wWi R |
39 40 e o fhad gowa i fGaE & gl 8, afe fG=m & fau 10 o+
T8 gt hl STEwIehdl 8 ?

Water in a canal, 54 m wide and 1:8 m deep, is flowing with a speed of
25 km/hour. How much area can it irrigate in 40 minutes, if 10 cm of
standing water is required for irrigation ?

T S & foaeh i fleh Sarg 4 9ot 2 qo1 36k geiid [l o aferd 18 &
3t 6 arft € | 38 foas 1 9% IS Sa i i |

The slant height of a frustum of a cone is 4 cm and the perimeters of its
circular ends are 18 cm and 6 cm. Find the curved surface area of the
frustum.

Tk 319 Al o oy okl fommd 4.4 #. x 2.6 . x 1-0 Hi. & | 30 fUgce
30 Tt it Bream R 5 ) A+ U a1 daHehR 98T SR T
2 | qreq hl oes Fd hifS |

The dimensions of a solid iron cuboid are 44 m x 2:6 m x 1-0 m. It is
melted and recast into a hollow cylindrical pipe of 30 cm inner radius and
thickness 5 cm. Find the length of the pipe.

@us 3
SECTION D

Y97 G&IT 21 & 31 TF J9F J97 F 4 3F & |

Question numbers 21 to 31 carry 4 marks each.

21.

30/1

x % foTu g1 i
L + 3 = 4 ,x¢—1,—l,—4
x+1 hx+1 x+4
Solve for x :
L + 8 = 3 ,x¢—1,—l,—4
x+1 hx+1 X+4
7 P.T.O.
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Eﬁwqmmawimﬁ3%méﬁmm§ | af T 7 I B o §
T TG H 39U A T B, A TS A I hl WA | foha g @ 2

Two taps running together can fill a tank in 3% hours. If one tap takes

3 hours more than the other to fill the tank, then how much time will
each tap take to fill the tank ?

Ife g1 THTaR Afed o JUW n UG & JANTHSA 1 A (7n + 1) : (4n + 27) B,
A 3% 99 ISl T U AT HIFT |

If the ratio of the sum of the first n terms of two A.Psis (7n + 1) : (4n + 27),
then find the ratio of their 9 terms.

firg HIfe 6 g % Pl el fig & g i T @) o el 1 et
A it @ |

Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

& M spfa #, XY q1 X'Y', O &g 91t I 1 3 Fuick Tei3@nd § 9o U
= TEid@n AB, e w9 fog ¢ 8, XY ® A 991 X'Y' # B W Jid=sg
Fdl 2 | frg Sifse f6 2 AOB = 90°.

X P AY
O
C
‘}I(/ Q B Y’
8
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In the given figure, XY and X'Y' are two parallel tangents to a circle with
centre O and another tangent AB with point of contact C, is intersecting
XY at A and X'Y' at B. Prove that £ AOB = 90°.

X P AY

l
T

S
>

A

C

, J -

X/ Q B 'Y/

A

s IS ABC 1 T hifse fSew e BC = 7 9t, £ B = 45°, £ A = 105°
B | T8 T 3 FIe i T hiforg fehl oI A ABC 31 @97 Sfisti 6
3

4

Construct a triangle ABC with side BC = 7 ecm, £ B = 45°, £ A = 105°.

Then construct another triangle whose sides are % times the

corresponding sides of the A ABC.

T BaTE e ael ¥ ST 300 M. 1 F=E W IS W R | W FE W Id
TU ETS ST § U ¢ o gl fehl T R fowdia fewmedt # feer 9 faigat
% ITSEH I A 45° AAT 60° & | IG! <hl =SS AT HIT |

[V3 =1-732 331 ShIfS |

An aeroplane is flying at a height of 300 m above the ground. Flying at
this height, the angles of depression from the aeroplane of two points on

both banks of a river in opposite directions are 45° and 60° respectively.
Find the width of the river. [Use +/3 = 1-732]

afe fag Ak + 1, 2k), B(3k, 2k + 3) @ C(5k — 1, 5k) T@ &, @ k H1 9H
1 HINT |

If the points A(k + 1, 2k), B3k, 2k + 3) and C(5k — 1, 5k) are collinear,
then find the value of k.

9 P.T.O.
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29. o fafve uri 1 T @19 hept T | WTReRal 1 SIS foh STea wena
(i)  ITHA T9 BN, 3R
(i)  TUBS FH BAT |
Two different dice are thrown together. Find the probability that the
numbers obtained have
(1) even sum, and

(i1)  even product.

30. @ TS KA #, ABCD U d & forgeh! fammd 21 3wt x 14 T+t € | BC W
E AH H Teh AYgd @iel T 8 | 3Thid H SHEIhd WFT 1 &% a0
it 3 HifT |

A 21 ft B

14 T

D C

In the given figure, ABCD is a rectangle of dimensions 21 cm x 14 cm. A
semicircle is drawn with BC as diameter. Find the area and the

perimeter of the shaded region in the figure.

A 21 cm B

14 cm
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foreft aui-oret wwgwr a7 H, 22 7. x 20 Hi. I B ¥ I9-TA TER 2 H. IR
& I qAT 3-5 W, SATS & Ueh SoHIhR ¢ § 37T & | Ife 3 W 7= &, at
Fra it fop et o fopet ol 8% | 91 a1 W T foem =k hifg |

In a rain-water harvesting system, the rain-water from a roof of
22 m x 20 m drains into a cylindrical tank having diameter of base 2 m

and height 3-5 m. If the tank is full, find the rainfall in cm. Write your
views on water conservation.

11
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